ForkJoin Lab Grading Rubric
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ArraySummer Lab:

Varying array size, fixed threshold (20)
· Data collection (5)
· Sketch of graph (7)
· Explanation of results (8)

Fixed array size, varying threshold (20)
· Data collection (5)
· Sketch of graph (7)
· Sequential should be faster than parallel below a certain threshold
· Parallel gets to be faster than sequential beyond that certain threshold
· The reason for this is that there is overhead in creating the threads.
· Explanation of results (8)


MergeSort Lab

Varying array size, fixed threshold (26) (implemented parallel merge sort)
· Data collection (6)
· Sketch of graph (10)
· Explanation of results (10)


Fixed array size, varying threshold (20)
· Data collection (5)
· Sketch of graph (7)
· Sequential should be faster than parallel below a certain threshold
· Parallel gets to be faster than sequential beyond that certain threshold
· The reason for this is that there is overhead in creating the threads.
· Explanation of results (8)
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